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STRAIGHT LINES

1. The base of an equilateral triangle with side 2a
lies along the y-axis such that the mid-point of the

base is at the origin. Find the vertices of triangle.

‘ ° Watch Video Solution


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_E1ipCliBlW7P

2. Find a point on the x-axis which is equidistant

from the points (7, 6) and (3, 4).

° Watch Video Solution

3. Find the slope of a line, whch passes through the
origin and the mid-point of the line segment

joining the points P(0, -4) and B(8, 0).

° Watch Video Solution



https://dl.doubtnut.com/l/_E1ipCliBlW7P
https://dl.doubtnut.com/l/_Lwl5gcuv21qY
https://dl.doubtnut.com/l/_F8C8OrbW31Y5

4.Find the values of x for which the points (x, -1), (2,

1) and (4, 5) are collinear.

° Watch Video Solution

5. Find the angle between x-axis and the line

joining the points (3,-1) and (4, -2).

° Watch Video Solution

6. If three points A(h,0), B(a, b) and C(0O, k) lie on

line, show that a + 2 = 1.
h k



https://dl.doubtnut.com/l/_LtX7ZCMdA40G
https://dl.doubtnut.com/l/_R9mtfQsN6xh5
https://dl.doubtnut.com/l/_co64xcRXfMq1

| P Watch Video Solution

7. Without using the pythagorus, show that the
points (4, 4), (3, 5) and (-1, -1) are the vertices of a

right angled triangle.

o Watch Video Solution

8. The slope of a line is double of the slope of
another line. If tangent of the angle between them

1
is 3 find the slopes of the line.

° Watch Video Solution



https://dl.doubtnut.com/l/_co64xcRXfMq1
https://dl.doubtnut.com/l/_JpVikFk1Lzy4
https://dl.doubtnut.com/l/_1UIiksFP6H7Z

9.Find the equation of the line which satisfying the
given conditions:

1
passing through the point (-4, 3) with slope 2

° Watch Video Solution

10. Find the equation of the line which satisfying
the given conditions:
passing through (2, 2,/3) and inclined with the x-

axis at an angle of 75°.

o Watch Video Solution



https://dl.doubtnut.com/l/_XRpPVsCwLya8
https://dl.doubtnut.com/l/_KeUNDOZNrACE
https://dl.doubtnut.com/l/_GAvG9Dx7lOiU

11. Find the equation of the line which satisfying
the given conditions:

intersecting the y-axis at a distance of 2 units
above the origin and making an angle of 30° with

positive direction of the x-axis.

° Watch Video Solution

12. Find the equation of the line which satisfy the
given conditions:

passing through the points (-1, 1) and (2, -4).

° Watch Video Solution



https://dl.doubtnut.com/l/_GAvG9Dx7lOiU
https://dl.doubtnut.com/l/_gQLJ3g3PJtL8
https://dl.doubtnut.com/l/_sCkna0kSEmx1

13. Find the equation of the line which satisfy the
given conditions:

perpendicular distance from the origin is 5 units
and the angle made by the perpendicular with the

positive x-axis is 30°.

° Watch Video Solution

14. Find the equation of the line passing through
(-3, 5) and perpendicular to the line through the

points (2, 5) and (-3, 6).

o Watch Video Solution



https://dl.doubtnut.com/l/_sCkna0kSEmx1
https://dl.doubtnut.com/l/_eP3fwWixS455

15. A line perpendicular to the line-segment joining
the points (1, 0) and (2, 3) divides it the ratio 1: n.

Find the equation of the line.

° Watch Video Solution

16. Find the equation of a line that cuts off equal
intercepts on the co-ordinate axes and passes

through (2, 3).

° Watch Video Solution



https://dl.doubtnut.com/l/_JhNsiQ6H00li
https://dl.doubtnut.com/l/_NbZr1FCDudo6

17. Find the equations of the lines passing through
the point (2, 2) such that the sum of their

intercepts on the axes is 9.

° Watch Video Solution

18. Find the equation of the line through the point
. 2T » .
(0, 2) making an angle 5 with the positive x-axis.
Also, find the equation of the line parallel to it and
crossing the y-axis at a distance of 2 units below

the origin.

° Watch Video Solution



https://dl.doubtnut.com/l/_65LcN4HmCVJ4
https://dl.doubtnut.com/l/_LtXml4jjkwbD

19. The perpendicular from the origin to a line meet

at the point (-2, 9), find the equation of the line.

° Watch Video Solution

20. Be using the concept of equation of a line prove
that the three points (3, 0), (-2, -2) and (8, 2) are

collinear.

° Watch Video Solution



https://dl.doubtnut.com/l/_mZiPYZhiw5Pk
https://dl.doubtnut.com/l/_QmIqwiYKR4yR

21. Reduce the following equations into slope-
intercept form and find their slopes and the y-
intercepts.

x4+ Ty=20

° Watch Video Solution

22. Reduce the following equations into slope-
intercept form and find their slopes and the y-
intercepts.

6 +3y—5=0

° Watch Video Solution



https://dl.doubtnut.com/l/_QhYltQnPbdzY
https://dl.doubtnut.com/l/_2ROkt3HGRuBT

23. Reduce the following equations into intercept

form and find their intercepts on the axes.

3r +2y—12 =0

° Watch Video Solution

24. Reduce the following equations into intercept
form and find their intercepts on the axes.

dr — 3y = 6

° Watch Video Solution



https://dl.doubtnut.com/l/_Mv014ixnonyI
https://dl.doubtnut.com/l/_5We2QtsomsAq

25. Reduce the following equations into the normal
form. Find their perpendicular distance from the
origin and angle between perpendicular and
positive direction of x-axis.

()r — By+8=0  (ii)z —y =4

o Watch Video Solution

26. Find the point on the x-axis, whose distances

from the line % + % — 1 are 4 units.

o Watch Video Solution



https://dl.doubtnut.com/l/_uYLjy7QQqjV0
https://dl.doubtnut.com/l/_mVAFS8PNT5XV
https://dl.doubtnut.com/l/_127yDleVBSrK

27. Find the distance between the parallel lines

(i) 152 + 8y — 34 = 0 and 15z + 8y + 31 = 0.

° Watch Video Solution

28. Find equation of the line parallel to the line
3z — 4y + 2 = 0 and passing through the point

(-2, 3).

° Watch Video Solution

29. Find the equation of the line perpendicular to

the linez — 7y 4+ 5 = 0 and having x-intercept 3.


https://dl.doubtnut.com/l/_127yDleVBSrK
https://dl.doubtnut.com/l/_Ry7clgyqr9pb
https://dl.doubtnut.com/l/_NYjEFlSEgIdu

o Watch Video Solution

30. Find angles between the lines

V3z +y=1and z + /3y = 1.

o Watch Video Solution

31. Prove that the line through the point (z1, y;)

and parallel to the line Ax +By+C =0 is

Az —z1) + B(y —31) = 0.

° Watch Video Solution



https://dl.doubtnut.com/l/_NYjEFlSEgIdu
https://dl.doubtnut.com/l/_mSheyme6rJYa
https://dl.doubtnut.com/l/_QJJv0lS5vjC0
https://dl.doubtnut.com/l/_L88KPw0sDnsX

32. Find the equation of the right bisector of the

line segment joining the points (3, 4) and (-1, 2).

° Watch Video Solution

33. Find the coordinates of the foot of
perpendicular from a point (-1, 3) to the line

3z — 4y — 16 = 0.

o Watch Video Solution

34.If p and q are the lengths of perpendicular from

origin to the lines


https://dl.doubtnut.com/l/_L88KPw0sDnsX
https://dl.doubtnut.com/l/_UW4hJlPSaqEF
https://dl.doubtnut.com/l/_IzAUAZiLWTGb

xcosf — ysinf = kcos 20 and xsec + ycosecd = k

respectively. Prove that p* + 4¢° = k°.

° Watch Video Solution

35. If p is the length of perpendicular from the

origin to the line whose intercepts on the axes are

1 1
a and b, then show that F = ? + ﬁ

o Watch Video Solution

Important Questions From Miscellaneous Exercise



https://dl.doubtnut.com/l/_IzAUAZiLWTGb
https://dl.doubtnut.com/l/_o3q5gERca1Om

1. Find the value of k for which the line
(k—3)z— (4—k)y+k —Tk+6=0.

(a) parallel to x-axis (b) parallel to y-axis.

° Watch Video Solution

2. Find the equations of the lines which cut off
intercepts on the axes whose sum and product are

1 and -6 respectively.

° Watch Video Solution



https://dl.doubtnut.com/l/_2yDk55d7r4Sb
https://dl.doubtnut.com/l/_gv0oJPv3hFVS

3. Find perpendicular distance of the line joining
the points (cos#,sinf) and (cos ¢, sin¢) from

the origin.

° Watch Video Solution

4. Find the equation of a line drawn perependicular

r + g = 1, through the point where it

to the li
o the line ~ 6

meets the y-axis.

° Watch Video Solution



https://dl.doubtnut.com/l/_bktBPn9dB1uk
https://dl.doubtnut.com/l/_BiMKCyN6x0IK

5. If the lines y=3z + 1 and 2y =z + 3 are
equally inclined to the line y = mx + 4, find the

value of m.

° Watch Video Solution

6. Find the equation of the line passing through
the point of intersection of the lines
4 + Ty — 3 = 0,2z — 3y + 1 = 0 that has equal

intercepts on the axes.

o Watch Video Solution



https://dl.doubtnut.com/l/_kAmrTsFmj0bp
https://dl.doubtnut.com/l/_esInfnkWrhsZ
https://dl.doubtnut.com/l/_F8SvQmF7Bfth

7. In what ratio, the line joining (-1, 1) and (5, 7) is

divided by the line z 4+ y = 47

° Watch Video Solution

8. Find the image of the point (3, 8) with respect to
the line z + 3y = 7, assuming line as a plane

mirror.

° Watch Video Solution

9.Find the equation of the line which is equidistant

from parallel lines 9z +6y—7=0 and


https://dl.doubtnut.com/l/_F8SvQmF7Bfth
https://dl.doubtnut.com/l/_x3dR8QuiqtFM
https://dl.doubtnut.com/l/_RqACkPiUen0i

3z +2y+ 6 =0.

o Watch Video Solution

10. A ray of light passes through the point (1, 2)
reflects on the x-axis at a point A and the reflected
ray passes through the point (5, 3). Find the

coordinates of A.

° Watch Video Solution

1. Find the equation of the line through the

intersection of lines


https://dl.doubtnut.com/l/_RqACkPiUen0i
https://dl.doubtnut.com/l/_cpnDKRzzuDID
https://dl.doubtnut.com/l/_I0ctqHGisnrm

3r +4y =7 and £ — y + 2 = 0 and whose slope

is 5.

° Watch Video Solution

12. Find the equation of the line through the
intersection of 5z — 3y = land 2z + 3y — 23 =0

and perpendicular to the line 5z — 3y — 1 = 0.

° Watch Video Solution

13. Find the new coordinates of the points in each

of the following cases if the origin is shiftedto


https://dl.doubtnut.com/l/_I0ctqHGisnrm
https://dl.doubtnut.com/l/_HSvjg4MSRXLH
https://dl.doubtnut.com/l/_kfAT5kvioHCz

point (-3, -2) by a translation of axes.

(i) (1,7) (ii) (0, 1)

° Watch Video Solution

14. Find what the following equations become
when the origin is shifted to the point (1, 1)

?+azy—3yY —y+2=0

° Watch Video Solution

15. Find what the following equations become

when the origin is shifted to the point (1, 1)


https://dl.doubtnut.com/l/_kfAT5kvioHCz
https://dl.doubtnut.com/l/_V1uTr5YslVvU
https://dl.doubtnut.com/l/_IE2CuwyUEG2E

zy—y —x+y=0

° Watch Video Solution

16. Find what the following equations become
when the origin is shifted to the point (1, 1)

zy—x—y+1=20

° Watch Video Solution

Multiple Choice Questions Mcgs


https://dl.doubtnut.com/l/_IE2CuwyUEG2E
https://dl.doubtnut.com/l/_wMoxBIPcqjGv

1. The point on the axis of y which its equidistant

from (-1, 2) and (3, 4), is

A. (0, 4)

B. (0, 5)

C.(5,0)

D. none of these

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_rcO6gxmJLjKJ

2.1f P(1, 2), Q(4, 6), R(5, 7) and S(a, b) are the vertices

of a parallelogram PQRS, then

A a=2,b=4

B.a=3,b=4

C.a=2,b=3

D.a=3,b=5

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_ujj0Pn7yhGVd

3. The point which divides the join of (1, 2) and (3, 4)

externally in the ratio 1:1

A.lies in the Ist quadrant

B. lies in the lind quadrant

C.lies in the llird quadrant

D. cannot be found.

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_UYEQjoM6q0Vh

4.If the vertices P, Q, R are rational points, which of

the following points of the triangle PQR is (are)

always rational point(s)?

A. centroid

B. incentre

C. circumcentre

D. orthocentre

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_by6A5fDuLXyD
https://dl.doubtnut.com/l/_J1lSlNs3yRVw

5. The lines a1x +biy+c; =0 and
asx + byy + co = 0 are perpendicular to each
other if

A. a1b2 — CL2b1 =0

B. aias + b1b2 =0

C. a%b2 + b%a,g =0

D. a1b1 + a2b2 =0

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_J1lSlNs3yRVw

6. The angle between the lines 22 — y + 3 = 0 and

x+2y+3=20Iis

A.90°

B.60°

C.45°

D. 30°

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_fqJfodlGAL9B

7. A triangle with vertices (4, 0), (-1, -1), (3,5) is

A. isosceles and right angled

B. isosceles but not right angled

C.right angled but not isosceles

D. neither right angled nor isosceles

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_C3ht1lw1dqXD

8. Three vertices of a parallelogram taken in order

are (-1,-6), (2,-5) and (7, 2). The fourth vertex is

A.(1,4)

B.(1,1)

C. (4, 4)

D. (4,1)

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_Qky2RVXQ287C

9.The line passing through (0, 1) and perpendicular

tothelinex — 2y + 11 =0is

A2 +y—2=0

B.2r +y—1=20

C2z —y+3=0

D.2z —y+1=0

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_7mCawdMgJJUB

10. The equation of line in the intercept form is

z Yy
A—— = =ab
a b ¢
z Yy
B.—+—=1
a+b
C.ax + by =c

D. none of these

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_hlO3w7TTg78h

11. The equation of the straight line which passes

through the point (1, -2) and cuts off equal

intercepts from the axes will be

Az +y=1

B.x —y=1

Cz+y+1=0

Dz —y—2=0

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_Y3JydShC2lzH
https://dl.doubtnut.com/l/_9et1wSGCbo3V

12. The equation of the straight line which passes
through the point (1, 2) and cuts off equal

intercepts from the axes will be

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_9et1wSGCbo3V

13. The equation of the line that has x-intercept -3

and is perpendicular to the line 3z =4 — 5yis:

A3y = bz — 15

B.3y = 15 — bz

C.3y = 5z + 15

D.3xz = 15 + 5y

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_d5sDkoyvURGU

14. The equations ax+by+c=0 and
dx 4+ ey + f = 0 represent the same straight line

if

oo

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_KIUAbsSb44hD

